W09 NOYSOBYM} MMM

L oJH7  oHH7

##92: S45C(§% HB201 ~ 269)

MERERE

BJHT oHHT

##%: S45C(:A%E HB201 ~ 269)

81

KEW | CLHO2G1 | CLHO4-G1 | CLH
A 128, 128, 168 193,
B 14 16 20 25 31 38
c 48 54 64 735 | 905 | 1155
D 55 6 6 8 9 12.5
E 55 6 6 7 10 13
F 3 35 6 5 9.5 95
G 165 | 185 | 21 245 | 305 | 375
oH 6472 6% 6737 87| 12797 147%™
oJ 66| 657 8'8"%| 10%°°| 14°57%| 16"
K 20 235 | 29 32 39 50
L M6x1 | M6x1 | M8x1.25 | M10x1.5 | M12¢1.75| M16x2
M 26 26 32 39 48 58
N 69 6% 814 10| 113 16%
P 14 17 17 20 | 265 | 36
R R3 | R3 R4 R5 | R55 | R8
s 12 135 | 135| 17.5| 22 28
T 3 4 4 5 7 8
u 1 9 1 13 16 19
KEHEE | 0.06kg | 0.08kg| 0.14kg | 0.24kg | 0.41kg | 0.98 kg
%Ig CLU02 | CLUOD4 | CLUOG6 | CLU10 | CLU16 | CLU25

B 14 16 20 25 31 38
c 110 | 135 | 135 | 180 | 200 | 230
D 55 6 6 8 9 12.5
E 55 6 6 7 10 13
F 3 35 6 75 95 9.5
G 165 | 185 | 21 245 | 305 | 375
oH 69| 6797 690" 87| 127900 14797
0J 67 67| 879°7| 107 14| 167
N 6% | 6% | 8¢ [ 0% [ 11 [ 16
P 14 17 17 20 265 | 36
R R3 R3 R4 | Rs | R55| Rs
s 12 135 | 135| 175| 22 28
T 3 4 4 5 7 8
KEBEER | 0.13kg | 0.19kg | 0.31kg | 0.62kg | 0.96 kg |1.95kg
%ﬁ;‘; CLUO2 | CLUO4 | CLUOG | CLU10 | CLU16 | CLU25

Model

MiLJ

R~

AR BEE

o -gim

LM030
LM036.
LM040
LM048.
LMOS5
LM065
LM075

BRESENITH

AR R0

Eisel2 -ER

i FHHEE, BRERRMEENN (BZL) , BAASGTRE

'
=
.

HESHE - KEERT EEAR
$D=30mm AEHE@BAE 1030 AMHR AR Cofi =t 2 R (T GIRAX HE B >, 4
4D=36mm AMHEEAE  LJ036  0D=36mm KRR AL GiRstiEE
- P )= - cC G S
oD=domm ARHRSEEE IO  D=dOmm AMMRAEH  gpeen o)
oD=4mm ARHEISAE 048 0D=48mm AMHE &2
oD=s5Tm AMHEIGAE  LJ0S5  0D=55mm AMSHE ALH HREAABCHRRZHAL
MBS ARHRBBES, AL
9D=65Tm AR A% 065 gD=6Smm AMHK AL ARSI, HRAT
OD=T5mm ABHMEBAS  LJ075  4D=TSmm ARHE ASHE L Lad ks
~ n G Rots.
LJ0S0  :4D=90mm ARHE A28 MALEARCRANT. AR o | wacmsn
11105 :4D=105mm AIEHE 426 o
—
_ EBiRFE L R
L&
c:
4D R
R

#RTRE O E T SRR /6.

LM0300 | LMO0360 | LM0400 & LM0480 | LMO550 & LMOG50 | LMO750
LJ0302 LJ0362 LJ0402 | LJ0482 LJo0s52 0652 LJo752 105
SRE AL EA cm?| 255 38 4.5 6.2 91 139 21.2 33.2 46.6
ISR (BHHAS) 286xP-08T| _ 496xP-187| _651xP-280|  1025xP-562|  f116xP-745| 30S5xP- 121 SB4sP-UE (RN -4 _ Bhd1xP 511
kN| L-125 L-145 L% L-185 L2 L-245 L-30 -3 L-44
21712 mm 16 185 205 235 2 295 35 41 49
HIRTIE mm 14 16 175 205 23 26.5 32 38 46
TiERE mm 2 25 3 3 3 3 3 3 3
THEEE cm? 41 7.0 9.3 14.5 236 40.9 743 136.1 228.2
tEEN kN| 0.06~009 | 0.09~0.15 | 0.10~0.21 | 0.7-0.36 | 0.24~0.44 | 0.33~0.58 | 0.49~0.96 | 0.68~1.33 | 0.95~1.58
BEEAEN MPa 7.0
BEBIEER MPa 25
R MPa 10.5
fERRAE c 0~70
L M 02 0.35 04 06 09 14 21 - -
=E kg
Jnt 03 ‘ 06 ‘ 09 12 18 ‘ 25 ‘ 4.0 ‘ 65 102
82

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model M/LJ i EREE EhAT

GAR = E R (BB GERAUETR)
#RERFLM/LI-CORME RITEARAE

GHREHEL

SHERMANCER Bt f
WHCEFEIZRARENE) AL

MmO P
(-C/-GH)

83

4-CABEL

4R
EET)

41;69

i (BASEE)
TR

Q

Ky

PR
|AE. AG®
am2
o 9 ~
& o0 NG 2
T I
o |
- _|E] -
>| |
e
15°,
i =
R zr 7
‘ \
of |
" 6D
I
|
=% ®D°¢?
638\ C0.6
|
Il !
- = |
|
|
~— T — =
~N -
S

Model MiLJ il EREEEHATH

S R~ RZESBHGMIR TR

21712 16 185 205 235 2 35 41 49
HETIE 14 16 175 205 23 . 32 38 46
HERE 2 25 3 3 3 3 3 3 3

A 86 9 103.5 14 1325 147 175 207 243
B 455 49 54 61 69 81 945 1095 127
c 34 40 45 51 60 70 85 100 120
D 30 36 40 48 55 65 75 90 105
E 59 63.5 70 75 87 93 108 128 149
F 34 385 45 47 59 63 71 88 99
G 25 25 25 28 28 30 37 40 50
H 2 29 315 355 39 46 52 59.5 67
J 195 20 225 255 30 35 425 50 60
Kx 30 314 34 40 47 55 63 75 88
Ky 23 314 34 40 47 55 63 75 88
L 57 63 68 73 80 9 106 126 147
M 1 1 1 12 12 13 16 16 17
Nx 205 235 26 30 335 395 45 525 60
Ny 3 5 5 0 0 0 0 0 )
P 3 3 3 3 3 5 5 5 5
Q 75 75 95 95 1 1 14 175 20
R 45 45 55 55 6.8 6.8 9 1 14
s 155 18 155 175 15 155 195 19 245
T 235 27 305 35 375 45 55 64.5 77
u 8 10 12 14 16 18 22 28 355
v 20 225 25 29 315 37 45 52 62
w 29103 30104 30504 345504 355504 3904 48204 525504 64104
X 185 20 22 2 30 355 435 525 64
Y 9 1 13 13 16 19 25 28 32
z 14 19 21 21 28 37 40 49 64
A1 c3 c2 c3 c3 ($80) (694) | (6108) | (6126) | (¢ 147)
HE2 c2 c25 c3 c3 c3 cs c5 c6 c6
AA 125 145 16 185 21 245 30 36 44
AB 73.1 743 77 924 1019 114 130.8 1465 1736
AC 454 473 502 612 77 787 908 1046 1225
AD 4 5 6 6 6 8 10 12 15
AE 4 5 6 6 8 10 12 15 18
AF 34 29 27 43 47 43 45 5 4.1
AG 169 196 202 189 199 205 214 224 231
CA M4x0.7 | M4x0.7 | M5x0.8 | M5x0.8 M6 M6 M8 M10 M12
JA 35 35 35 35 35 45 45 45 45
JB 14 14 14 14 14 19 19 22 22
0 GELUET ()|  G18 G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8
(mRENE) #6) @6) (96) (96) (¢6) (68) (68) (912) (912)
a0 REKUEE @5 LI () R1B R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8
(MR ENE) (©6) ©6) (96) (96) (96) (48) (68) (612) (612)
O HEHE 1BP5 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7
50 Re#24L (-S) Re1/8 Re1/8 Re1/8 Re1/8 Re1/8 Rot/4 Re1/4 Rod/8 Re3/8
84

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model M/LJ i EREE EhAT

B EEAR (

BRRT

LZ 036

Rt
(HERER)

0 —LJ1

T wr

R_ Suam

#X

HRC SOMFISESR:

LZ0480-LJ1
sy | MO0 LM0360 LM0400 LM0480 LM0550 LM0650 LM0750 0902 Liiose
LJ0302 LJ0362 LJ0402 LJ0482 LJ0552 L0652 LJ0752
A 375 43 48 54 64 745 88.5 1025 125
B 80 10 %2 125, 12 %4 1653 195 22%; 25%; 32 %0,
© 1 125 14 16 20 25 32 38 45
D 45 5 6 6 8 10 1 13 16
E 10.75 125 14.5 16 16.5 21 255 305 36
F R2.25 R25 R3 R3 R4 RS R5.5 R6.5 RS
G 85 10 12 13 13 175 22 2 30.5
H 10.5 10.5 13 13 17 22 25 31 38
J 6 7 75 8 10 13 16 22 27
K 13 145 16 18 22 27 3 40 a7
L 8 9 10 10 15 20 30 45 60
M M4x0.7 M5x0.8 M6 M6 [ M10 M12 M16 M20
N 4 45 55 6 6 8 10 11 13
P 12.5 145 16 185 21 2.5 30 36 44
Q 16 19 205 235 29 32 375 .5 51
R 4 45 55 6 6 8 10 11 13
s 25 25 25 35 6 75 95 13 16
T 47 55 X 65" 65" 85 106" 12°5 155"
W 4o 5750t 6002 680 850" 10 0% 1280 157508 g+ 0
85

Model

Link clamp

model

CLW

BEWBEE. AKX, BAME

SRR

CLW
OPYS enpEREAn
o4 L EB F: 8 R: &8
o Lok SRS
cLw 10 — Fm
. e
25

iR

B LW10 LW16
ETRES (REE35MPaBF) (kN) 54 89 13.3 215
SHEEE35MPa B (kN) 38 58 9.2 152
E3:5)] B L25MPa B (kN) 27 41 65 10.8
B 15MPa B (kN) 16 25 3.9 65
FERFERE (LH) (mm) 42 50 56.5 69.5 87.5
SHELPRRE (mm) 14 18 22 28 36
EHFE (mm) 12 14 18 224 28
BT (35 (cm?) 1.54 254 3.80 6.16 10.18
21712 (mm) 235 26 295 36 45
RETIZ (mm) 205 23 26.5 33 42
TERE (mm) 3 3 3 3 3
BARE (Umin) 0.38 0.69 1.18 2.39 5.08
. B33 (cm’) 36 66 112 222 458
B } R (cm®) 1.0 26 37 8.0 18.1
(kg) 0.9 17 23 44 74
1~35MPa SEHE: 525MPa  (ERBEERE: 0~70C

R BRI (EEFISOVGa2)

86

W02 NOYSORYMI MMM




